2
10a+20 4b-7 @ p= 9% orp= 7% I eT _,

a’ (b-3) 4
_ 2c+2 23d - 16d° (h) g=+2.74 . () R+yr=36

3 | e
(c+4) (7-4d) (i) x= % orx=>5 (i) y=bxyr’ —(x-a)

13f+9 4h-8 .
2/ 1) ® (h-8) 6) y=1£ (i) $6499.59

3k-14 . (i) P=
(k+5)(k-5) - (@) Gx+4)(x-2) (
m-9n+6 (ii) _12
(m-9n)* 7

2p+5
(7p+4)(p+1)
(3g-8r)(2g+5r) : (i) 7h9 min @ 34

17-x : 106"

(x+1)(x+2)(x+3) . (@) 2x-D(x-4)

¥ +5y-30
203+ 00—5) . =

2y°2 -2y’ + y -5z hk 4;:;3 ) ==
20-2) s [Wm=og -

: A=xP;—4S,B=kf6 P:§%Sx B o . (a) Tad){5)
) 25 o _yD (b) x=0o0rx=7

. A=6,B=3,C=-2 I==-2% (b B= = o 5x-2
6x+1

U= tyJv:-2gs x+1

(iii) $28 800
y—c

(] (b) (i) x= % orx=4

x+4

X

(i) 616 (ii) r= 3/Rﬂ_ﬂ
T

8. 3

Chapter rect and Inverse
Proportions

(i) 1.6cm (ii) 56 cm
150

$9.60

¢
s

X
$14.40
487.5 km

h=10o0orh=-1 7. 52.7 g of carbohydrate,

6.67 g of protein, 5.61 g of fat,
162.45 mg of sodium

$802

(i) No (ii) $200

k= 1l ork=3
4

(e)
) n= Tr'l orn=10




. (@) x=15f
. $1140
.(b) C=248n (c) $892.80

OB o o A e

(a) y=7x
(© 22
22

3

(a) (i) 81

2

(ii) 0.05

(b) 2.5cm

. Lydia is correct; Howard is incorrect.

No

(a) x*andy

(€) Vxandy
a=8,b=+16
k=4,p=16,q=24

(b) xandy
(d) * and iy
X

®) ~
64

(@) y= éx‘

10

(@ @) y=3x
(ii) 30

(i) =
27
@ (@) y=%(2x+[)3

i) 1+
7
(iii) 24

16.1g

80
0.3025 m

True

False

3.2 days

2h

(i) 1000 min (i)
Yes

7.5h

(i) 3

$930

© Shing Lee Publishers Pte Ltd

.(b) T=

600
X

N= (b) 5days

85

333 m? (b) 171 pascals
54

F=— (b) 3.375 newtons
5d

216 m
15
2x
(d) 31.25h

(¢) 1.25h

. Patricia: $160, Queenie: $60,

Rosa: $80

No

(a) ¥andy (b) s/;andy
1

d) — and

(d) —an Iy

a=1.125,b=1000

(c) xand)y’

(i)

rasy 4

(iii) 7

M) p=
q+1

(ii) +3

(iii) 899

(i) 22

No

(ii) 292

. (@) € P=100,d=4and k=200

. 36%, decrease

1 1
16.p=3=,9= 2~
p=35.9=12;

(i) 9h

3 1
;a) p= g%/E ) —
1

(b) Yes

Q

(a) y=4x
3

(€) y= b

1.125h

(c) 324¢g

(b) y=5vx
(d) y=6x

@ @ y:%(ﬁ) 12
- :

103
iii) 13—
(i) 125

(i) Decrease

Secondary 2 Express Mid-year
Checkpoint A

(a) -18
X+ 55t -6x-30
32p
3q'r
63-18x
14
2x-3
2x+3
$3910
(a) 70°
193
.3y-banda+4
. (b) 6.6cm
: 27
.(a) y=-14
. (a) A(-4,0), B(5,0), C(0, -20)
(b) (0.5,-20.25)
i 72
. (a) 25p°-80p+64
- 2s —q2ut
2
33
(2x+1)(x-5)
iy
35
716 mm; 31 080 mm?
(ii) 1270 cm?

(b) 20°

. "j-An_swe'r-Keys



